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Answer any five questionw, All questionn earry equal marks. The blind candidates

will be given 60 minutes extra time.
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What are the different Quentitative Technique ? Briofly describe ench trchnique giving its

characteristics and applications.
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You toss n frir coin threo times :

(a) What is the probability of throe Hoads HITH 7

(b) What is the probability that you observe exactly one head 7

13-

(¢) Given that havo obsorved atleast one head, what is the probability that you observe at

least two heads 7
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Differentinte between Normal and Binomial distribution. Explain characteristics of standard

normal curve.
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Two types of batteries are tested for their longevity and following data is obtained :
st 9w T
No. of Sample Mean life (in hours) Variance
Type A 09 600 121
Type B 08 - 640 144

Is there any significant difference between mean of battries at 5% level of significance.
(For v =15, t; o = 2.13)
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Calculate the Karl-Pearson’s Coefficient of Correlation for following ages of husbands and wives

at the time of their marriage :

S. No. : 1 2

Age of Husband : 25 27
Age of Wife : 22 23

e

3 4 5 6 7 8 9 10
28 924 92 28 29 26 28 25
99 21 23 24 2% 24 25 24
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The follomang table gives monthly sales (in thousand Ry
by four salesman

BLB-02
s AN RN e

ipees) of a certain firm in three markets

States 4 / Salesman - 1 I i v
A 6 5 3 ]
B 8 9 6 5
C 10 7 8 7
ANOVA # 390 #T & 50150 % ¢
(¥) w3 d=dw orT R od el ¥ wdE s R |
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m :

Using ANOVA test is their any significant difference
(a) Sales by the four salesman
b} Sales in three markets.
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Write short notes on :

(a) Difference between Correlation and Regression.
(b) Parametric and Non Parametric Tests

{(c; Hypothesis Testing.
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